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QUESTION 1

Which three state types can be used when creating a State Model? (Choose three.)
A. Simple

B. Referenced

C. Composite

D. Contained

E. Concurrent

Correct Answer: ACE

QUESTION 2

Given the following two identical rules matching the criteria:

-RuleA with priority 3

-RuleB with priority 5

Which two statements are true about RTC execution? (Choose two.)
A. RuleB may not be triggered.

B. RuleA may not be triggered.

C. The agenda will be recomputed after the first rule\\'s actions finish.
D. The rules\\' actions may be executed in parallel

Correct Answer: AC

QUESTION 3

Which two statements are true about rules in TIBCO BusinessEvents? (Choose two.)
A. Rules have three parts: Declarations, Conditions and Actions.

B. Rules have three parts: Definitions, Conditions and Triggers

C. All rule conditions must evaluate to true for the rule to be executed.

D. A rule executes when any of its conditions are evaluated to true.

Correct Answer: AC
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QUESTION 4

Which statement is true about Query agents?

A. A Query agent can execute rule functions, but not rules.

B. A Query agent can execute rules, but not rule functions.

C. A Query agent can store and serve cache data for the cluster.
D. A Query agent can have channels, but no destinations.

Correct Answer: A

QUESTION 5

Which two statements about channels are true? (Choose two.)

A. A channel can contain many destinations.

B. A destination can contain many channels.

C. All destinations for a channel use the same server connection.

D. All destinations for a channel must use different server connections.

Correct Answer: AC
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